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CBSE NCERT Solutions for Class 8 Mathematics Chapter 12

Back of Chapter Questions
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1. Evaluate:
(1) 32
(i) (—4)7?

-5
1
i (9
Solution:

@ 3= wam =]

32 am

1
9

ALz 1
Hence, 372 = =

(ii) (—4)2 = : [ =M = ﬂim]

T (-4)?

Hence, (—4)2 = 11_5
i Q-0 benegd

= (2)° = 32

Hence, G)_E = 32

2. Simplify and express the result in power notation with positive exponent:

(i) (—4)°+(-4)®

W

i) (=3)* x (;)4

Gv) [377+3" 9 x35

(v) 273 x(=7)?

Solution:
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(1) (—4]5 i (=4)B = (~4)58
= (4=

(-4)

Hence, (—4)° + (—4)8 = 1

(—4)
2 2
" 1 1
(i1) (2_4] T (232

g & o ok
s 23!»:2 = 26
2
1 1
Hence, (2—2) =

4 4
(i) (=3)*x G) = (-3)*x5
={(-1)*x 39 x5
= 344 x 5¢
=30 x 5% = 5¢

Hence, (—3)* x (;)4 = 5*

(v) (377 +3 s Engr-(-10) 50

= J-7+10 3 3=56 _ 93 4, 7-5 _ 93+(-5)

s 1
ST o 1
Hence, (377 + 371 X 3% = =
: -3 _m-3_1 !
ﬁ"] 2 x ( ?) anz 23 X {_7}3
_ 1 _ 1
T2 (-7P (-14)
Hence, 273 x (—=7) % = i
Find the value of*
(1) (30 + 4-1) x 22
(i) (2 'x41)+272
1y 2 1y 2 1372
i (G) +G) +G)
(ivi (371447145 1)0
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m no_ om-n
=0 ]

-

am

O

{ﬂm]n = ﬂm’m]

aym  am
: (E] =
{ﬂf}}m s Hmbm]
v a™ g = ﬂm—n]

[ a® = 1]

[ a™ = q" = ﬂm—n]

[.'. ﬂrn W ail’l i’ ﬂIrH'ﬂ:]

-2

am

[ (ab)™ = ambm]
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Solution:

() (@+4)x22=(1+1)x22

1
4

441 5 5
=Qijx2==_x22=jx22
4 e 2

=5x 272
=SNW=Hx1 =5
Hence, (3° +4 1) %22 =5

(i) @'x4)+272= (2—11 X ) +272
= (lxiz)+2—z b9z

- SR 23

= JHAN BeRS 9ege (~2) _ 9342 — 22

2

Hence, (271 x471) + 272 =%

[ a™m = 1

= 1
[ram=2
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[ el ﬂim anda® = 1]

[ a™m = aq" = ﬂm—n]

[+ a®=1]

am
[._. am W Hﬂ. o ﬂﬂl'frl:]

[ a™ = q" = ﬂm—n]

am

i) ) +0) +0) =@ +EHT+E 2 [ram=2

2 3 4

= P-1x(-3) 4 F-1x(-2) 4 4-1%(-2)

=722 432442 =44+94+16=129

Hence, (1) +(5) " + () =29
(iv) (3-1+—4-11-5—1]ﬂ==(§4-}1-§)“

" (2u+15+12)'3 s (4?)“ _1
&0 &0

Hence, (371 +4°1+51)0 =1

o (T-6

Call: +91- 9686 - 083 - 421 Page 3 of 7

[.1. {am]n: - ﬂfi"lltﬂ]

www.vikrantacademy.org




2\~2) 81
Hence, {(—3) ] =
4. Evaluate:
“} 3'21:53
) (B Tx2ixeT
Solution:
= g~ lywgd - {23.]_1,(53 _ 2—3,c3
(1) e
- 2—3—[—4) % 53 = 2—3+4 X 53
=3 % 125 =750
Hence, 3_1_253 = 250
2
ki 13 =5 St 1 1 1
i) ('x21)x6 IZ(E":E)":E
1
T 1076 @

Hence, (%2 1 R6 ' = 2
=11}

5. Find the value of m for which 5™ + 573 = 5%,
Solution:
Given 5™+ 53 =5
= M3 55 [“ a®™+ g =ag™ "
= gm+3 — 55
Comparing exponents both sides, we get
= m+3=5
= m=5-3
= ompe=
Therefore, the value of m is 2
6. Evaluate:

(1)

S
@ O <@
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Solution:

5 —13-1 -1
o -0 -0 e
3 4 1 1 am
={3-4}1=-1
=iy —13~1
Hence, [(l] = (l) } =-1
3 4
W Q%@ B O
i 8 s/ a7 g " \b a"
= 5704 w gD [ am +gq" = ﬂm—n]
=6 TH a7 _ o303 i [._. a™m = i]
53 am
I
T 128
-7 -4
5 8 512
Hence, (—) X [—) = —
8 5 125
7. Simplify:
. 25N
() Sestt®0)
is 3 5%10" 5 %125
) ==y
Solution:
; 2sxt% UEAMETEN 2 gty eelel) T SR 1
(1) 53x10xt~® 5 3xEx2xt® 2 [+ a™ +a" =a™™"]
_ 52+.'1-—I ch:I|—-I+I:'| - 5")(!‘4 L Et“-
- 2 B
i 351075125 2TON(2nSTERET L g RSy -Sigd . T
(ii) 5 7Txe= 5 7x(2x3)"5 5 Tx25x3~S [ (ab)™ = a™b™]
3 SxnaSug B g-Spgmpe s " n -
e = Hh »w ==
5-7x2-5%35 57 x2~5 %35 [ a " a™"]
e 3—5—(—5} % 2—5—{—53 % 5—2—(—?} [ a™ —g" = ﬂm—n]
— 545 3 P-5+45 3 5-2+7 — 30 3 70 x 55
=1x1x3125 Faat=13
= 3125
Exercise 12.2
1. Express the following numbers in standard from:
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(i) 0.0000000000085

()  0.00000000000942
()  602000000000000
(iv)  0.00000000837

(v) 31860000000

Solution:

(i) 0.0000000000085 = 0.0000000000085 x =B85x10712
(i1) —942){1[]' 2
(i)  602000000000000 = 602000000000000 x = 6.02 x 10*

(iv)  0.00000000837 = 0.00000000837 xl—“g =837x107°

= 3.186 x 10"°

(v)
2. Express the following numbers in usual form:
(i) 3.02 x 167
(i) 4.5 x 10*
(i) 3 x107®
(iv)  1.0001 x 10°
(v)  5.8x10'
(vi) 3.61492 x 10°
Solution:
(i) 3.02x 107 =222 =10.00000302
(i) 4.5x10* =45 x 10000 = 45000
(iii) 3% 107% = — = 0.00000003
(iv)  1.0001 x 10° = 1000100000
(v) 5.8x 10 =5.8x 1000000000000 = 5800000000000
(vi) 3.61492 x 10° = 3.61492 x 1000000 = 3614920

3 Express the number appearing in the following statements in standard form:

(i) 1 micron is equal to
1000000
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(i1) Charge of an electron is 0.000,000,000,000,000,000,16 coulomb
(i)  Size of a bacteria is 0.0000005 m.

(iv)  Size of a plant cell 1s 0.00001275 m.

(v)  Thickness if a thick paper is 0.07 mm.

Solution:

1 oy
=1 =1x10"m.
1000000 10

(1) 1 micron =
(1)  Charge of an electron is 0.000,000, l][]'{] 000,000,000,16 coulomb =
0.000,000,000,000,000,000,16 x = 1.6 x 107 coulomb

=— =5x10"m

10000000 107

(iv)  Size of a plant cell is 0.00001275 m = 0.00001275 x % =

(iti)  Size of a bacteria = 0.0000005 =

1.275x 10° m
(v)  Thickness if a thick paper = 0.07 mm = —— mm = —— = 7 X 10~ 2 mm.
4. In a stack there are 5 books each of thickness 20 mm and 5 paper sheets each of

thickness 0.016 mm. What is the total thickness of the stack?
Solution:

Thickness of one book = 20 mm

Thickness of 5 books = 20 x 5 = 100 mm

Thickness of one paper = 0.016 mm

Thickness of 5 papers = 0.016 x 5 = 0.08 mm

Total thickness of stack = 100 + 0.08

= 100.08mm

= 100.08 x % = 1.0008 x 102 mm

‘e
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